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Q.No: 1 Who has been given the first Lata Mangeshkar Award 2022?
2620304

Ugell odT HINEHR RER 2022 b fan man €2

Amit Shah
A

aifira =g

Narendra Modi
B

g A

Yogi Adityanath
C

Tt enfeemry

Piyush Goyal
D

gy T

Correct Ans : B

Subject : General Knowledge graduate

Q.No: 2 Where did the Chauri Chaura conspiracy take place?

2622021
ARI-URT BTS BET T UT?
Gorakhpur
A
TRER
Agra
B
STRT
Delhi
C
fowit
Baliya
D
qferan

Correct Ans : A

Subject : General Knowledge graduate
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Q.No: 3 In which session of Congress was the Non-Cooperation movement ratified?
2622065

FEG & 59 offa=m # organT siaias &t gfd 3t 7% o

Nagpur session of congress 1920

A

PO & ANTYR SREA=H 1920

Madras session of congress 1914
B

P & AFTE ST 1914

Calcutta session of congress 1917
C

PN & FAB AREAIE 1917

Kanpur session of congress 1925
D

BT & PR A= 1925
Correct Ans : A

Subject : General Knowledge graduate

Q.No: 4  Who is considered to be the father of New Economic Policy of India?
2622329

HR 1 715 3nfies Y &1 oep QA AF el 32

PV Narasimha Rao

A
bt dt RRyeT @
Indira Gandhi
B
gfewr ieh
Dr. ManMohan Singh
C
ST e Riw
Pranab Mukherjee
D

yorg gaeit
Correct Ans : C

Subject : General Knowledge graduate

GET IT ON

Google Play

Q.No: 5 If a candidate of Parliament or Legislative Assembly seeks votes based on religion and discriminates based on religion, caste, and language,

2622525 pder which Act can the Election Commission disqualify him?

g IO a1 Ay qUT &1 Bis IEEIR ¥ & SMUR R e TRTAT § 3R o, Sfa SfR UIoT & 3R R Veuid Fdl 3, df fa St ay & ded gAma smah 39

3 T B Joval 872

A Wildlife Conservation Act
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qgeita wveor ifufraw

Indian Penal Code

B
YR &3 Hfgen
Indian Pride Prevention Act
C
YR TR fFraron siftfaa
Representation of the People Act
D

e ufaffte st

Correct Ans : D

Subject : General Knowledge graduate

Q.No: 6  If the firm has zero costs or only has fixed cost, the quantity supplied in equilibrium is given by the point where the average
2623429 reyenue is zero.

afe o B TG Y & 3ryal Pad FRRR AT 81 df Iqer | i @1 AE B 39 foig gR1 auian S 8, e W sied dwiie g g g
Perfect Competition
A
quf wfaegyf
Monopoly
B
TSIRBR
Oligopoly
C
SETRIPR
Monopolistic Competition
D

THIIPR oyt

Correct Ans : A

Subject : General Knowledge graduate

36%36737 As a result of the 74% amendment in the constitution, in which article the provisions
related to mumcipalities have been added?

TR & 749 IieH P ATIR TR Uliereprall | Fefia urau by sge § §ie T 82

Article-241
A

ITDG-241

Article-241
B

ITe-242

Article-243
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3J=e-243

Article-245

IG-245

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 8  Who was Bhopal's last governing Nawab ?

2623808
WoTd & Sifom aTe TS B A2
Muhammad Bahadur Khanji III
A
eI TEIGY WIS it
Saadat Ali Khan
B
qamed 3reft @
Sir Hamidullah Khan
C
W gHigeaTe @
Mohammed Quli Qutub Shah
D

TgwIg Tl $ga IS

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 9 Which of the following is the India's first National Park which was established in 19367?

2624461
Fofafed § 9 S 91 4Rd &1 v P10 Ia ¢ o 1936 H R fosam mar ur?
Bandhavgarh National Park
A
FiydTe I S
Indravati National Park
B
Saradt P I
Jim Corbett National Park
C
R pide F3ma uid
Gir National Park
D

iR g sam=
Correct Ans : C

Subject : General Knowledge graduate

Q.No: 10 In which of the following Wars were the Holkars finally defeated by the British?
2642780

GET IT ON

Google Play
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fufafad & @ 59 gg A gie sidd: e gRT WRIfod gu 37

Battle of Plassey

A
R F a5
Third Anglo-Maratha War
B
AR SA-TRTST 5
Third Battle of Panipat
C
a9 Fed aSTs
Battle of Buxar
D

TRR B TS5

Correct Ans : B

Subject : General Knowledge graduate

Q.No: 11  What is the full-form of MPTRIFAC?
2642932

MPTRIFAC (TH.4t.21.3R. oS, U, 0. 4T, ) &1 quf &1 @1 82

Madhya Pradesh Trade and Investment Facilitation Corporation

A
YT YR ¢S TS gavedc BRI $RURIH
Madhya Pradesh Tribal Facilitation Corporation
B
T TR TT3ad BRARIEYH SRURRM
Madhya Pradesh Trade and Industries Facilitation Corporation
C
T YW 3T US SRS hIARIe SRUNIH
Madhya Pradesh Tourism and Industries Facilitation Corporation
D

T WeR gfie Te sewie hRiftesH sRuReH
Correct Ans : A

Subject : General Knowledge graduate

Q.No: 12 Which of the following rivers create the Dhuandhar waterfall in Madhya Pradesh?
2651222

frafifad & @ B9 W 7 e vy § y3iuR Saydrd S 82

Son
A
=
Shipra
B
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Narmada
C
Har
Tapti
D
et

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 13 Which of the following kings defeated the Hunas in 528 AD?
2651939

Froffaa & @ f5g 3om 7 528 . 7 gUT 3 gRMT A2

Emperor Ashoka

A

e e

Yashodharman of Malwa
B

HTEET & TR

Harsha of Thaneswar
C

YR & 7

None of the given options
D

2 ¢ el § @ B1S 78
Correct Ans : B

Subject : General Knowledge graduate

Q.No: 14 Who was the author of the book “Poverty and Un-British Rule in India”?
2680625

“Tad Tg sF-ffewr wa 3 fearges & Raw i A2

Gopal Krishna Gokhale

A
MITA FoT TR
Badruddin Tyabji
B
FEeLH auasit
Dadabhai Naoroji
C
araryTé <RI
Pherozeshah Mehta
D

fper=iTe Agar

Correct Ans : C

Subject : General Knowledge graduate

GET IT ON

Google Play
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Q.No: 15 Lithification occurs due to-

2680768
faaftrar= forads R g &2
Temperature
A
GIEEIE]
Pressure
B
Qe

Organic matter

rafe uerd

Water-flow

oid Udle
Correct Ans : B

Subject : General Knowledge graduate

Q.No: 16 The Unorganised Workers Social Security Act came in existence in the year :
2681326

SR it T JRen siftfay frw af & oifiaa & smar?

2001
A

2001

2005
B

2005

2008
C

2008

2012
D

2012

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 17 On which day is the World Consumer Rights Day celebrated?
2683646

fay Iuviear iR feaq forg fem Fman oar 872
March 6%

6 U &Y

GET IT ON

Google Play
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March 7%
B

7 A B

March 15t
c

15 A 3

March 9t
D

9 ATd BT

Correct Ans : C

Subject : General Knowledge graduate

Q.No: 18 Select the synonym of the given word.

2621403

Intrepid
A Aesthetic
B Rotten
C Fearless
D Detached

Correct Ans : C

Subject : General English graduate

GET IT ON

Google Play

Q.No: 19 In the following question, a sentence has been given in Direct/Indirect Speech. Out of the four alternatives suggested, select the one which

2629993 pegt expresses the same sentence in Indirect/Direct Speech and select your answer.

“How do you want to do the activity?” Nitesh, asked the teacher.
A The teacher asked Nitesh how he wanted to do the activity.
B The teacher asked Nitesh how did he want to do the activity?
C The teacher said to Nitesh whether he wanted to do the activity.
D The teacher asked Nitesh how do you want to do the activity.

Correct Ans : A

Subject : General English graduate

Q.No: 20 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which best

2630704 expresses the same sentence in Passive/Active Voice.

Pratiksha scolded her brother for his silly mistakes in the exam.

Pratiksha’s brother was scolded by her for his silly mistakes in the exam.

A

B Her brother has been scolded by Pratiksha for his silly mistakes in the exam.
C Her brother would be scolded by Pratiksha for his silly mistakes in the exam.
D

Her brother is scolded by Pratiksha for his silly mistakes in the exam.
Correct Ans : A

Subject : General English graduate
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Q.No: 21 Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

2648533
It's very to learn to ride a skateboard, but you never forget how.
A easy
B official
C difficulty
D tricky

Correct Ans : D

Subject : General English graduate

Q.No: 22 Select the most appropriate idiom (in the context) to fill in the blank given in the sentence.

2676503
He is the top-most player, of his own hard work.
A Taking a back seat
B Reaping the harvest
C Burning the candle at both ends
D Speaking of the devil

Correct Ans : B

Subject : General English graduate

Q.No: 23 In the below question, a part of the sentence is bracketed. Below are given alternatives to the bracketed part which may improve the sentence.
2676826 (Choose the correct alternative. In case no improvement is required, choose 'No Improvement' option.

You are a very great help, and most ingenious (in your tackling) of any problem.
in your tackle
No Improvement

with your tackling

o 0O w r

in you tackling
Correct Ans : B

Subject : General English graduate

Q.No: 24 1In the below question, a part of the sentence is bracketed. Below are given alternatives to the bracketed part which may improve the sentence.
2676846 (Choose the correct alternative. In case no improvement is required, choose 'No Improvement' option.

The Privacy Shield establishes a process to allow companies to transfer consumer data from European Union countries to the United States (in
compliance in the) EU law.

A In compliance with the
B In compliance under the
C In compliance for the

D No improvement

Correct Ans : A

Subject : General English graduate

Q.No: 25 In the below question, a sentence is given with a portion bracketed. Choose the best replacement for the bracketed portion.
2676899
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Because of his mastery in this field, his suggestions (are wide accepted).
Are widely accepted

A

B Are wide acceptance
C Have widely accepted
D

no improvement
Correct Ans : A

Subject : General English graduate

Q.No: 26 In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the
2686805 appropriate option. If a sentence is free from error, select No Error.

As they reached the palace, they called for help, but found none.

A As they reached

B the palace, they called for help,
C but found none.

D No error

Correct Ans : D

Subject : General English graduate

Q.No: 27 In the following question, some parts of the sentence may have errors. Find out which part of the sentence has an error and select the
2686843 appropriate option. If a sentence is free from error, select No Error.

In the climatic scene that comes towards the end of the novel, the protagonist Sharda boldly confronts the culprit.

A In the climatic scene that comes
B the protagonist Sharda boldly

C confronts the culprit.

D No error

Correct Ans : A

Subject : General English graduate

Q.No: 28 Four alternatives are given for the idiom/phrase bracket in the sentence. Choose the alternative which best expresses the meaning of the
2688718 idiom/phrase and mark it.

It is evident from the minister's statement that (heads will roll) in the Secretariat.
A Transfers will take place
B Heads will be cut off
C People will die
D Dismissals will occur

Correct Ans : D

Subject : General English graduate

Q.No: 29 Four alternatives are given for the idiom/phrase bracket in the sentence. Choose the alternative which best expresses the meaning of the
2688731 idiom/phrase and mark it.

He expects his subordinates to be always (at his beck and call).

A At rest

B At work

C At his disposal
D At their desks

Correct Ans : C

Subject : General English graduate
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Q.No: 30 Four alternatives are given for the idiom/phrase bracket in the sentence. Choose the alternative which best expresses the meaning of the
2688766 idiom/phrase and mark it.

(Reading between the lines) I realized that my friend wanted to keep something from me.

Looking for meanings that are not actually expressed

A

B Reading carelessly

C Reading with anxiety
D

Glancing over the lines
Correct Ans : A

Subject : General English graduate

Q.No: 31 Rearrange the parts of the sentence in a correct order.1 and 6 sentences are in their correct order arrange remaining four sentences in a
2689847 sequence.

1. The notion of marriage in most societies is that of ownership, not partnership.
P. Hence the use of words like pati, swami, majazi khuda or pati parmeshwar for the man you marry, in South Asia.

Q. Even the English word 'husband' does not connote equality. It means controller, manager and domesticator. Remember the word animal
husbandry?

R. Hindu women touch their husbands' feet immediately after the marriage ritual; many wear signs of marriage like mangal sutra and sindoor,
and change their last names and residence.

S. Many of our marriage rituals promote the same notion of ownership; hence kanyadaan in the Hindu tradition or 'giving away the bride'
amongst Christians.

6. Husbands do none of this. If the man you marry owns you, then he can do what he deems fit.

A PQSR
B PRSQ
c PRQS
D RQSP

Correct Ans : A

Subject : General English graduate

Q.No: 32 Out of the following choose the word which expresses the right meaning of the given word.

2692854
ARCANE
A Open
B Mysterious
C Puzzle
D Troublesome

Correct Ans : B

Subject : General English graduate

Q.No: 33 Out of the four alternatives, choose the one which best expresses the meaning of the given word.

2692950
Jingoism
A Bereft
B Chauvinism

C Obligatory
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D Incitement
Correct Ans : B

Subject : General English graduate

Q.No: 34 Select the most appropriate antonym of the given word.

2729095
SERENE
A Unperturbed
B Composed
C Agitated
D Pleased

Correct Ans : C

Subject : General English graduate

Q.No: 35 The key which is responsible for deleting the characters to the left of the cursor is .

2635720
WG S PR P T R F R P geH F R IWarts, 7
Delete
A
Delete
Tab
B
Tab
Backspace
C
Backspace
Home
D
Home

Correct Ans : C

Subject : General Computer Graduate

Q.No: 36 What is the shortcut to replace text in word document?
2636099

7S Siagic ¥ TRe &I Rw o3 $1 Aidpe | g 2

Ctrl+R
A

Ctrl+R

Alt+R
B

Alt+R

Ctri+H
C

Ctri+H

D Ctri+N
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Ctri+N
Correct Ans : C

Subject : General Computer Graduate

Q.No: 37 What is another name for snooping protocol?

2636861
FihT Meleier BT gERT A &1 82
Bus-snooping protocol
A
TI-FRIT Werpia
Tool-snooping protocol
B
TA-|UT Uietera
Web-snooping protocol
C
J9-HfiT vieieta
Data-snooping protocol
D

SeI-HiuT Weldia
Correct Ans : A

Subject : General Computer Graduate

Q.No: 38 What number of steps make up a DLX pipeline?
2636868

SITeIe URueTs fhde TR § frder sl 82

Five
A

i

Nine
B

=t

Four
C

IR

Eight
D

3o

Correct Ans : A

Subject : General Computer Graduate

Q.No: 39 What is the shortcut key to bring paragraphs to the center in ms word?
2636952

THEE §€ § IR &1 s (center) H @R B Wiche Pl 1 82

GET IT ON

Google Play
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Ctrl + L
A

Ctrl + L

Ctrl + R
B

Ctrl + R

Ctrl + E
C

Ctrl + E

Ctrl + 3]
D

Ctrl + 3]

Correct Ans : C

Subject : General Computer Graduate

Q.No: 40 The signal power loss that occurs as light moves down the fibre is known as which of the following?
2639077

ST F BIER & 19 M R B4 are R ureR arg &1 Fafied # § 5w ®u & w1 s 22

Attenuation

A
&fiu (Attenuation)
Propagation

B
UAR (Propagation)
Scattering

C
fd@R™@ (Scattering)
Interruption

D

¥dhIdc (Interruption)
Correct Ans : A

Subject : General Computer Graduate

Q.No: 41  Which of the following is NOT a correct feature of Worm malware?
2675307

9 7 3 o o (o) Acam Bt ge) foRwar 7E 22

It incurs unexpected or damaging behaviour on an infected computer system

g TP HehHd R RIEH W VARG T gIFPRS qdeR Sl 2l

It does not need a host program or software to insert its code into

T TR Bs BT AT PR P T TP e T o1 W 1 gD T8 ¢

C A worm needs human-triggering to replicate and then spread to other computers through the network.
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GET IT ON

Google Play

TP i (a) B A F T AFT-IARS B ATaRaHar gl @ 3R fbe Aead F dreaw | 37 e} & b ot B

Sobig, Code Red are prominent examples of Worm

Tifa, #Ye ¥ o (a9) F wE Ieer g

Correct Ans : C

Subject : General Computer Graduate

Q.No: 42 Where are the WWW browser Google Chrome’s cache saved?
2675315

T, S, B, (WWW) STISR TFTel IH BT H Pl I9 BIeTT 82

In the hotlist of the user

A
SUARTFAl B giefone §
User’s local computer’'s memory
B
ITENTHAl F RITNT FogeR @) O &
In the user’s Google Drive
c
IANTEl & [ grga A
In the user’s Gmail account
D

STURTEAt & A @

Correct Ans : B

Subject : General Computer Graduate

Q.No: 43 What is the common source of alphanumeric data?
2676559

HABTIARS ST BT TR Aid T 82

Mouse
A
HISH
Scanner
B
W
Pointing Device
C
uigfen feargw
Keyboard
D
P

Correct Ans : D

Subject : General Computer Graduate
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Q.No: 44 Which one of the following is ‘no argument’ function?
2678265

ol & I oF 9 A e ' thawd 72

Now()
A
Now()
Lower()
B
Lower()
Max()
C
Max()
IF()
D
IF()

Correct Ans : A

Subject : General Computer Graduate

Q.No: 45 Which function key is used to run a powerpoint presentation?
2678284

UiRUTEe oM T & T {5 o goit &7 I foba e 82

F3
A

F3

F5
B

F5

F7
C

F7

F9
D

F9

Correct Ans : B

Subject : General Computer Graduate

Q.No: 46 What kind of computer combines networking, phone, and computing features?
2680436

5 TR BT LR Teaib, B 3R g R Bl sigar 82

Personal Digital Computers

T feforea dugex

B Printers

GET IT ON

Google Play
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firex

Digital Camera
C

fSfrea Fmwr

Optical Character Reader
D

3HifpPd P¥aex fsv

Correct Ans : A

Subject : General Computer Graduate

Q.No: 47 Which of the following is innermost layer of an operating system?
2681058

Fafiea § 3 oF O te TRET Rer #i sidvay Wd 82

Hardware interface

A
FIEAW §RBH
Application interface
B
TS Sexhd
User interface
C
ToR §eXhE
Serial interface
D

dfvaa s
Correct Ans : A

Subject : General Computer Graduate

Q.No: 48 Which process enables the retrieval of lost data from a corrupted or damaged primary storage medium?
2690259

D It ufthar ue g a1 eforra wufies YR Wy 9 WY gU 321 Bl UF: U SR B 9eH S 82

Data retrieval

A
Se1 Rdiaa
Data recovery
B
se1 fraadt
Data usage
C
Ser @
Data regain
D

Ser A

Correct Ans : B
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Subject : General Computer Graduate

Q.No: 49 Which of the following options cannot be input by user with the help of keyboard into a computer?
2690378

frofafed & 3 3 o1 fiew e § $1a1S 3t ggrar  IuaNTEHdl gRT $TYC a1 a1 o Jed 32

Numbers
A

Bire )|

Letters
B

&R

Symbols
C

I ricd

Videos
D

Jifsar

Correct Ans : D

Subject : General Computer Graduate

Q.No: 50 What have been developed to build motherboards, which can be used in different brands of cases?
2698840

A& s & forw o1 faesfia foan man 8, St fafte sife & Al # SuanT foan S Teban 87

Different sockets

A
fafia |fde
Different standards
B
faftm A
Different jacks
C
fafira S
Different points
D

faftm ufge
Correct Ans : B

Subject : General Computer Graduate

Q.No: 51 Study the diagram below and identify the region representing girls who are employed but unmarried.
2628603

GET IT ON

Google Play
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Employed

2 & T 3Ty BT SremTe Y AR I & B W R wefpal o b Breikd § A arfdaied B ufafia B B

FHRA

)
(N

e f

Married

L et

5

Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 52 Select the option that is related to the figure in the same way that the second figure is related to the first figure.

2629453

GET IT ON
Google Play

e

4
s

#h

TG [eped 1 9T B O dIR) STpial § I oRE Jeiftd & S gT Sl Uge aiepfa & Fafda B

b

4
s

#h

4
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¥ | | mx

B
A
A
4

N4

Correct Ans : A

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 53 In a certain code language, " night crawl trip" is coded as "33 37 36", "thrill night chill" is coded as " 37 32 34", " crawl trip chill" is coded as "

2637447 36 33 34". Find out what will be the statement for " 36 32"?

& FAfyd Fs U &, "night crawl trip" &1 "33 37 36" & & H "thrill night chill" &I " 37 32 34", & ¥4 & "crawl trip chill" &I" 36 33 34" & U &

pifed far ST 31 "36 32" &1 HYT Td I-

A night crawl
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night crawl

trip crawl
B

trip crawl

thrill chill
C

thrill chill

Cannot be determined
D

fruifea =gt far o qewan

Correct Ans : D

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 54 If the radius of a sphere is increased by 3 cm then its surface area will be increased by 5544 sq.cm. Find the radius of the original sphere.

2641084

e T a3 Boar 3 et 9¢ Sl B, A ST TSI A 5544 I QI d 9 ST YR H T BT Bisan 3 B

69 cm
A

69 cm

72 cm
B

72 cm

75 cm
C

75 cm

78 cm
D

78 cm

Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 55 How many triangles are in the figure below?
2642145

& g st # foba Bt &2

15
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15

16

16
12

12

14

14
Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 56 Eight people X, W, Z, F, T, L, P and S are sitting in a straight line facing north and south directions. X is sitting second to the right of Tand W. T

2663898 g sitting third to the right of F. S is sitting fourth to the left of X. Second and fourth persons are facing south from the left end. F is sitting
fourth to the left of L who is second from the left. Z is not facing towards south but sitting fourth to the left of P who is third to the right of S
who is facing north. W is not a neighbour of L. If T changes his or her position with F, who would be sitting fourth to right of F?

S AR X, W, Z, F, T, L, P 3R S T el T & IR IR afor fGzmafl & iR 50 aRep 93 81 X, TN W F a8 4 R RIF W IBT21 T, F F g ¥ dRm
RFEWISIZI S, X F I § MY VI W 937 31 g iR 91 e 61 58 a1 B8R Y R0 B AR BIF, L F I | 1Y RIF W 937 ¢ o S I g A R
B ZH YO CRU H R TR, APTPF IW A TN ™A R Y31 E, NIW P AR IFE S F H A TN /ARSI W, L BT ISR T 81 AR T, F F Ty
ST I FEadl §, @ F & g I 91 RIH W I Ja7 gm?

L
A

L

w
B

w

z
C

z

P
D

P

Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 57 From the given alternative words, select the word which can be formed using the letters of the given word 'narcotics'?
2665056

e o B, Ru 7 e wsdl @, 39 Usg 1 TG Y O 3T T g "narcotics' & 31&RT BT GUNT B ST O Febdll |

STAR
A

STAR

SCARY
B

SCARY

C KNOT
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GET IT ON

Google Play

KNOT

SCouT

SCOuUT

Correct Ans : A

Subject : General Aptitude Graduate

Q.No: 58  There are 54382 players of cricket 48% of them play cricket only at night and

2670423 lﬁ%% of them are female. Then how many percent of female players play at night?

Terehe & 54382 Toremsr & 31N 3 w48 oS haa AT A Woa & 3R 389 @
15§%Hﬂ%ﬂwﬁl aa T # Ao arel #fgen Weneat S e srafaerg |

10%
A

10%

8%
B

8%

9%
C

9%

11%
D

11%

Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 59 A sum of money placed at compound interest triples itself in 8 years. In how many years will it amount to 243 times itself?
2673114

FIS ¢ 8 TN B Thglg SIS BT X W T BT 3 AT B ST § ol b aut H, T8 o7 S0 BT 243 TFT 81 WTM?

15 years
A

15 9

40 years
B

40 g9

27 years
C

27 94

80 years
D

80 9
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Correct Ans : B

Subject : General Aptitude Graduate

(22(.5'\‘703:36307 An increase of Rs.627 in the selling price of an article tums a loss of 7'%% into a gam of 12.3%.
The cost price (in Rs_) of the article is -

forelt o & Rea A & 627%. 1 gk T A 7% HT B F el 12.5% FT
o GBIl §. ol aFd &1 &g Hed Ad |

Rs.3192
A

Rs.3192

Rs.3032
B

Rs.3032

Rs.3082
C

Rs.3082

Rs.3136
D

Rs.3136

Correct Ans : A

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 61 In question, a few statements have been given followed by some conclusions. Consider the statements to be true and answer which of the

2679768 given conclusions are correct with respect to the statements.
Statements:
All men are women.
All women are crazy.
Conclusion:
I. All men are crazy.
II. All the crazy are men.
III. Some of the crazy are women.

IV. Some of the women are crazy.

Y ¥, T Y & 9 $O P QU T ¥ HU B TG W SR I ¢ fp T MU Hu F I BH-I Y UL 7
HY:

Tt seft ofivdt &1

Tl SR umTa 1

forsad:

1. 9t smeH) urTe B

1. et arTe ereet B

III. $F UNTS, 3R g

IV. $ 3R, T g1
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None of the conclusions follows

A
P Prepd argeor T8 Het 8
All the conclusions follow
B
Tt freapd argeRer B
Only I, III and IV follow
C
Fad I, 111 3R IV IRV Fd 3
Only II and III follow
D

Fad II 3R III TR 3 8

Correct Ans : C

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 62 In the following question, from the given alternative words, select the word which CANNOT be formed using the letters of the given word.

2698591
LETHARGIC
ffafea o 7, T T dofcue Wt ¥, U Xeg $T 997 IR o fal T Teg & 3Rt § et SR S 9obal
LETHARGIC
Late

A
Late
Garlic

B
Garlic
Heart

C
Heart
Magic

D
Magic

Correct Ans : D

Subject : General Aptitude Graduate

Q.No: 63 Arrange the following words as per order in the dictionary.
2755676

1. Transcript

2. Territorialism

3. Transposition

4. Triangularities

5. Transmittance
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fufafad Weal &1 YeaHIRT HAHER TaRRUT B |
1. Transcript

2. Territorialism

3. Transposition

4. Triangularities

5. Transmittance

21534
A

21534

12345
B

12345

21453
C

21453

21345
D

21345

Correct Ans : A

Subject : General Aptitude Graduate

Q.No: 64 Three of the following four letter clusters are alike in a certain way and one is different. Find the odd one out.
2755693

frufeiad IR srerR T & ¥ 9 ue Ffda % & 99 € ofR Ue sra B favy g

GFDB
A

GFDB

XVTR
B

XVTR

LJHF
C

LIHF

OMKI
D

OMKI

Correct Ans : A

Subject : General Aptitude Graduate

GET IT ON

Google Play

Q.No: 65 In the question below, a statement is followed by two conclusions based on the statement. Study the conclusions and select the correct option

2755722 55 the answer.

Statement:
M<C=P=I=D>=Q;C<L=S§
Conclusion:

LL>=M

I M=>0Q
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e fou T Uy o, U B & SR WR &l ey fou e 7| fenst o7 siege o) 9k ST & = U § TE [Jdped o1 9g Hi|

FUA:
M<=C=P=I=D=>Q:C<L=S§
o=y

LL=M

IILM=Q

Both I and II follow

A
I 3R II SFTSrgaRr #3d &
Either I or II follows

B
Tl I 97 IT 3R Heal §
Only I follows

C
Fae I TR0 HIT &
Only II follows

D

Fad II IR BT §
Correct Ans : C

Subject : General Aptitude Graduate

Q.No: 66 In the word SUPERMARKET how many pair of letters have same number of letters between them as in the English alphabet (in both forward
2755725 3nd backward direction)?

s SUPERMARKET & 3eRT ¥ foe- oiis & g S &) 31&R 8 Riem o5 iisht qufaren & (3 ofR diy <A1 fe=malt &) &2

1
A

1

4
B

4

2
C

2

3
D

3

Correct Ans : B

Subject : General Aptitude Graduate

Q.No: 67 Johnny and Kevin make 4 to 7 times as much money as they spend, or 6 to 11. What will their savings ratio be if John saves a third of his
2617748 ncome?

S 3R B e O T BRd § SU9 4 ¥ 7 A1 S I A F, A6 F 11, TS S U 31T BT U FigTS R S 8 < 3T S SiquTd o g

A 12:19
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12:19

12:13

12:13
26:13

26:13

14:19

14:19
Correct Ans : A

Subject : General Maths graduate

S o AABC~ AQRP and PQ = 6 cm, QR = 8 cm and PR = 10 cm. If ar (AABC) : ar(APQR) = 1 : 4, then AB s

equal to:

AABC ~ AQRP 3T PQ =6 cm, QR=8 cm @T PR=10 cm gl AMG ar (AABC) : ar(APQR) = 1:4 %, dl
AB fhTdh ST gEM?

2cm

2cm

5cm

5cm

3cm

3cm

4 cm

4 cm
Correct Ans : D

Subject : General Maths graduate

Q.No: 69 What is the value of x so that the seven digit number 55350x2 is divisible by 72?
2643292

x & 68 71 & e 9a sty G, 55350x2, T 72 ¥ faHrey 872

1
A

1

8
B

8
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3
Correct Ans : C

Subject : General Maths graduate

Q.No: 70 The greatest number that will divide 331, 430 and 567 leaving 8, 12 and 16 as remainders, respectively is:
2645815 TE 931 ¥ dS WA O 331, 430 3R 567 B UFT 37 W HA: 8, 12 3R 16 Y I9d1 7, T8 §:

.o
T
c 3
o3

Correct Ans : D

Subject : General Maths graduate

Q.No: 71 A can do a piece of work in 6 days and B can do it in 8 days. In how many days will they finish the work, both working together?
2647760

A forelt a5 oY 6 fo & qur B I B &1 8 37 T % Twhd §, Ol Al ISR U 1Y S B B fbaq A o wat He

4 days
A
afe
2.85 days
B
2.85 fam
2 days
C
2fe
3.42 days
D
3.42

Correct Ans : D

Subject : General Maths graduate

Q.No: 72 Eyglyate: 195 %2 - 18+6-2x11.5+6x2
2667179

Hedidr @ 19.5x2 - 186 -2 % 11.5+6 %2

25

25
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22
23.5
C
23.5
18
D
18

Correct Ans : A

Subject : General Maths graduate

Q.No: 73 Simplify:

2667221
49
343 x ——
216x16x81
Wlpd
49
343 X ——
216x16x81
A 7%/67
7°/6’
. 7°/6%
7°/6"
& 7
c 7°/6
75/67
7468
D
7468

Correct Ans : A

Subject : General Maths graduate

Q.No: 74 Circumference ‘C’ of a circle can be found by multiplying diameter ‘d’ with
2671501

W d' B Q0N b g @) uRR 'C' I B o Il §

-~

=1

b
“"‘lr-:

r
~ |I-J

0
o
ot

[&]
[*]

GET IT ON

Google Play
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[y
[

(=]
| =1 (&1

[&]
[X]

|~

=]
(&1

Correct Ans : B

Subject : General Maths graduate

Q.No: 75 Which of the following fractions is less than 7/8 and greater than 1/3?
2672670

fFafafad # 3 S19-10 fig 7/8 B @ik 1/3 Y 7S 72

1/4
A

1/4

23/24
B

23/24

11/12
C

11/12

17/24
D

17/24

Correct Ans : D

Subject : General Maths graduate

GET IT ON

Google Play

Q.No: 76 A man covers 39 km upstream and 116 km downstream in 7 hrs. He also covers 65 km upstream and 87 km downstream in 8 hrs. Find the

2672887 speed of boat in still water.

T A &Y 39 Tt @t g yrT & fauda oz & 9iR 116 . ary B fo=n # 0 H B oo wHT 7 € At 31 3R 39 65 . Bt g arr & fawda femm

T 3R 87 frft. 4y Y g2 o 79 ova W pa GHT 8 U @l § RR U # Tra Bt i &7 yar @

21 km/hr
A

21 Tt/ der

27 km/hr
B

27 Tt/ ver

18 km/hr
C

18 fet /e

29 km/hr
D

29 &t/ ger
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Correct Ans : A

Subject : General Maths graduate

Q.No: 77 Car A left from a point P at 11 am at a speed of 55 km/hr. Car B left from P in a direction same as that of Car A at 11:36 am at a speed of ‘X’
2672984 km/hr. If car-B travelled 275 km before it met car A, what is the value of x? (Both cars travelled at constant speeds throughout?

PR A U@ fog P 9 g6 11 ol 55 [HHfl/der ot 91 9 Ielll P9 PR B IR A $I a0 H og 11 : 36 I 'x' fbHT./€e1 &t 91d ¥ Il A SR B A PR A TF
Ugem ¥ ugd 275 5. Ft gt T Y, A x BT A 0 B2 (@ PR I A F IRA RR T § Tl

65 km/hr
A
65 fit, /4er
75 km/hr
B
75 ot /der
72 km/hr
C
72 foft, /4er
62.5 km/hr
D
62.5 o, /der

Correct Ans : D

Subject : General Maths graduate

Q.No: 78 Speed of Ankit and Kuldeep are 40km/hr and 64km/hr. They want to travel from Ranchi to Patna by same route. Kuldeep starts after 61 min of
2673015 nkit and reaches Patna 29 min before Ankit. Find the distance between Ranchi and Patna?

siferd SR Fercia o TIfa 40 fae. /der aut 64 foedh. /et 81 a It ¥ e 9% U &) At § am S 96 €1 Fe Sifrd & 61 fiFe & a1 a1 T a1 §
3R 3ifpd F 29 e Ugd ugTdr 81 I SR U1 & o Bl g8 T 82

200 km
A

200 fH.

160 km
B

160 .

240 km
C

240 foit.

144 km
D

144 T,

Correct Ans : B

Subject : General Maths graduate

Q.No: 79 The average age of a husband and a wife was 27 years when the child was born, the average age of the husband, the wife and a new-born
2680058 (hj|d is 21 years now. The present age of the child is:
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ofdl Td Ul @1 3frd omg 27 Y oft, 99 3% a1 o el Ufd, Uell T 9= Bl aA ofd g 21 Y 81 S B 9 311G 9 Bifo |

5 years
A

5 a9

3 years
B

3af

4 years
C

4 qf

2 year
D

2 af

Correct Ans : B

Subject : General Maths graduate

Q.No: 80 The average marks of the students of class A is 96. Some students of class A whose average marks are also 96 are transfer to class B and
2681511 g3me number of students is transfer from B to A whose average marks are 48. As a result, the average marks of students of class A becomes
80. What fraction of students of class A are transfer?

BT A B B BT AN 3iF 96 T1 FET A & $& B forich 3id 3icb 1 96 T, I B B & RIFARA fobar @1l § ok w0 Wem & 86 & B 9 A § ®FiaRd
foran ST B, % oia i 48 | TR H&fT A & BT BT S 3 80 T ST 3| FH&T A I BT BT fbaT U RAHFIRT Bl 82

1

4
A

1

4

1

2
B

1

2

1

3
C

1

3
D

Ul =
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1
5
Correct Ans : C

Subject : General Maths graduate

2'6'\‘9(;8110 Awhe:?l has diameter 98 cm. then how far does the wheel go (in meter) in 15 revolutions?
(v=7)
Ueh, T30 &1 ST 98 THT &, Al 15 Terehd 3 SWeh ST Tehcleil gl (FTeX 1) o T ATl 67
(v=3)
47.84 m
A
47.84 .
44.50 m
B
44.50 #.
46.20 m
C
46.20 #.
40.98 m
D
40.98 #.

Correct Ans : C

Subject : General Maths graduate

GET IT ON

Google Play

Q.No: 82 Pipes A, B and C together can fill a cistern in 12 hours. All the three pipes are opened together for 4 hours and then C is closed. A and B

2696377 together take 10 hours to fill the remaining part of the cistern. C alone will fill two-thirds of the cistern in:

BT A, B 3R C e 12 3¢ # Th bl &) W Tobd &1 dIHl UI3Ul o) T 1Y 4 1 & o T Sld & 3R bR C Y 9 & fear oI g1 A 3R B U 1Y QY

HIT BT 4R & AT 10 T &1 THY TG & o C 3ibal & faeTs & v & o gmg amm?

40 hours
A

40 We

48 hours
B

48 de

60 hours
C

60 W

50 hours
D

50 He

Correct Ans : A

Subject : General Maths graduate
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Q.No: 83 Simplify:
2730716

A8 X6-32x3+37-13+13x3-2+1

WW:

48 X6-32x3+37-13+13x3-2+1

220
A

220

254
B

254

262
C

262

256
D

256

Correct Ans : B

Subject : General Maths graduate

QNO: 84 iR & A -9 ea R THN BT e} IR 22

2660114
A ewfet
B draraR
C EESIGICE
D St

Correct Ans : D

Subject : General Hindi graduate

QNo: 85 Lreferfam # & ol Wsw 1 9T FIvTT-

2660237
A Idlq
B BHR
C Jar

D FWR

Correct Ans : C

Subject : General Hindi graduate

QNo: 86 frafifed wea-wgl 3 A F1-1 Ried g Wl & W) SaTeR 7

2660269
A drufe, frarafe, srqures
B ffeR, Tgis, g

C ¢, 4, ud

D qw®, T, TN

Correct Ans : B

Subject : General Hindi graduate

GET IT ON

Google Play
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QNO: 87 ot & & aIfie” b1 Rich e 41 22

2660451
A g
B HRT
C &d
D amRe

Correct Ans : D

Subject : General Hindi graduate

Q.No: 88 profufed # & Teae T @1 997 -

2660729

A 2N
B T

C qig

D uefige

Correct Ans : C

Subject : General Hindi graduate

2660866 " 1 T e T affe 5% 71 ST €7
Ary- v & e, s agd @
Hwrar 31 Hifeal 8, gear gew @t
Fo-mreil B AR, @ ve @
daw! Y oifedl § Ja-J T @)
fRafiR ¥ 39 RreR w, 35 Ran @t haa siel
7w To i T B, 3 e o v |
TEd &l qeT 38, e af<w AR
T oTET DI e, Husiedn BT IR|
PUSRIAT BT UR, TR B: w6l fawrSt
er i< ure, wRe sl s
R e & 3 g 8 & v
SreT BT YR, g € s wgd
N & a1 =y R §,
T g9 W 9 R A g
3g 39 # foa IR e,
T fire R g R

Correct Ans : D

Subject : General Hindi graduate

Q.No: 90 ' o 3 § T sty sfedl 31 9a FT-

2660897

A & 1 18l 33T 1
B St it g goR! Aee
C B3 917 3 3R e
D 3R 81 T 3E!

GET IT ON
Google Play
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Correct Ans : B

Subject : General Hindi graduate

QNo: 91 ey sl T B T+ vl &) agi P A @ Bi-a e frg e € @ 2

2661248
A 3 famvm

B 3rey favm

C fremafestus e
D aeR g

Correct Ans : B

Subject : General Hindi graduate

QNo: 92 ' frefeam # & wiepifdes “oR W) & o1 granthdt @ T o1 e onf B2

2661387
A o1 <t $1 8 98t 39 S A BR qHaT 2

B Tt & i disT ver-feram ameR uran 21

C DU I Ia¥ aeg =

D 31ed B & W Wt $O-7-FS U A9 € & oIrer 81

Correct Ans : D

Subject : General Hindi graduate

QNO: 93 ' Fyafeifd & & api-a Weg SRR T T R AEY S T 2

2666347

A ST
B T
c ]

D [RECE]

Correct Ans : C

Subject : General Hindi graduate

Q:No: 94 't # ¥ “fRre ~ 1 e weg a1 B2

2666464

A SiTEr
B qof

c I5d
D gt

Correct Ans : A

Subject : General Hindi graduate

QNo: 95 fyrffd # ¥ of & SMUR TR ara TR ) TR ¥ 81 27

2666916

A 3TS
B B

C Gk
D i

Correct Ans : A

Subject : General Hindi graduate
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QNo: 96 £ 3 3 s wd o & waf & argrg Rided &1 9u -

2667737
A Tre- "gifa
B HA-HHAGR
C GUICESRIGE
D HERUT- fawrRo

Correct Ans : D

Subject : General Hindi graduate

QMNo: 97 Freifere & & 1-u 2o " Su o1 T R T S 7 22

2667971
A IEESE ]
B L
C R
D e

Correct Ans : B

Subject : General Hindi graduate

Q.No: 98 = ¥ ¥ Iwfad fawed &1 797 o~ Rad -IH 31 g Fifore-

2668085
ERFFUAGH W A FhAIEI
A o
B EL
C CIEIG)
D anf

Correct Ans : C

Subject : General Hindi graduate

Qfto: 99 it & & ot ot forA 8, el g 9 €1 Wl @ A T T RUg e @ 2

2668360
A Sufr™ fag

B g fg
C RIECA

D e form frg

Correct Ans : D

Subject : General Hindi graduate

QNo: 100 prtefed & & - o, TR “wwger g @ 32

2668524
A qu

B gefeat

C Tt FT R
D 3TH AT

Correct Ans : C

Subject : General Hindi graduate
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